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Bilanciamento delle misurazioni miste Nome:
Risolvi ogni problema. Risposte
1) Qiarde= piede
1.
2) 3 Centimetri = millimeters
2,
3) 12 months= year
3.
4) 6piede= iarde
4.
5) 6galoni = quarti
5.
6) 30 millimeters = Centimetri
6.
7) 60 seconds = minuti
7.
8) 7litri = millilitri
8.
9) 6 chilogrammi = grammi
9.
10) 3.000 Metri = kilometers
10.
11) 7.000 grammi = chilogrammi
11.
12) 2.000 millilitri = litri
12.
13) 48ore= days
13.
14) 1Metro= Centimetri
14.
15) 5Libbre= once
15.
16) 3 weeks= days
16.
17) 7 minuti = seconds
17.
18) 6 miles= piede
18.
19) 9piede= pollici
19.
20) 48 once= Libbre
20.
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Bilanciamento delle misurazioni miste Nome: Soluzioni
Risolvi ogni problema. Risposte
1) Qiarde= 27 piede
1 27
2) 3Centimetri= 30 millimeters
2 30
3) 12months= 1  vyear
3 1
4) 6piede= 2 iade
4 2
5 6gdloni= 24 quarti
5, 24
6) 30 millimeters= 3  Centimetri
6. 3
7) 60seconds=_ 1  minuti
7 1
8) 7litri= 7.000 millilitri
8. 7.000
9) 6 chilogrammi = 6.000 grammi
9. 6.000
10) 3.000Metri= 3  kilometers
10. 3
11) 7.000grammi = 7  chilogrammi
11, /
12) 2.000 millilitri=_ 2 litri
12, 2
13) 48ore=_ 2  days
13. 2
14) 1Metro=_ 100 Centimetri
14, 100
15) 5Libbre= 80 once
15, 80
16) 3weeks= 21 days
16, 21
17) 7minuti= 420 seconds
17, 420
18) 6miles= 31.680 piede
1. 31.680
19) 9piede= 108 pollici
19, 108
20) 48once= 3  Libbre
20. 3
: 1-10 [95/90( 85|80 75| 70| 65| 60 [ 55 | 50
Matematica J = ~ommonCoreSheetsit 11-20[45[40[35]30] 25| 20| 15| 10| 5 | 0




